BSEH Practice Paper

Subject: Economics, Set - B

Class 12th

General Instructions.-

i)  Questions paper contains two section.
Section - A- Micro Economics
Section - B- Macro Economics

ii)  This paper contains 20 multiple choice questions type questions of 1 mark each.

iiiy This paper contains 4 short answer questions type questions of 3 marks each to be answered in 60
to 80 words.

iv) This paper contains 6 short answer questions type questions of 4 marks each to be answered in 80
to 100 words.

v) This paper contains 4 long answer questions type questions of 6 marks each to be answered in 100
to 150 words.
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Section- A (Micro Economics)

1. F=fef@a d @ s afe s o sregae g2

(A) ¥t s (b) T AfT

(c) ATUR UH (d) |77 @ Rigia
Which of the following is the study of microeconomics?

(a) National income (b) Aggregate demand

(c) Trade cycle (d) Theory of demand

2. 'JUHIHT & e foig TR
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(c) MRS, < X
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At the consumers equilibrium point

(b) MRS, =

XY
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(c) MRS, < X

v
3. ST o a%g o uRad gt 3
(a) oImv
(c) Sdra
The transformation of inputs into goods is called
(a) Profit

(c) Production

P
(b) MRS, > =¥

(d) 379 @ IS Tl

P
(b) MRS, > =¥

Y

(d) None of the above

(b) BT
(d) 579 ¥ ®Ig el

(b) loss

(d) None of these

4. 59 HHid IS gedT & af ol STG Dl T ST giht &

BOEIRETE

(b) R

(c) uedt SR Y T 8 (d) 379 @ &I TE

What is the state of total production when marginal product decreases

(a) Maximum
(C) increase at a decreasing rate

5. 3fgd fRR AnTa fohaeh gRT Uehe 6l St &
(a) YRR TSURAIAT GRT

(b) Constant

(d) None of these

(b) X- 31&T THATAR Yeh TRl &1 gRT

(C) Y- 3187 GHIATIR o TRAET GRT  (d) U- 3R & deh gIRT

Average fixed cost is expressed by
(a) By rectangular hyperbola

(c) By state line parallel to y-axis

(b) By state line parallel to x-axis

(d) By u- shape curve
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Fill in the blanks with appropriate words:-

6. 3 Od ANTd aeh giar g1 (et @1 / U-31TahR)

Average cost curve is - (A straight line / U-shaped)

7. 9fd & & S forelt aeg &t hima ofik gfd & &= e gidT 81 (FUTTcHh / Y-TcHh)
Law of supply its states that where is relationship between price and supply of a
commodity. (Negative / positive)

8. gof ufcaifrar & siafadhd____ fenRa gt 8 (e / aeiR)

Under perfect competition, price is determined by ........ (firm / Market)

fAfofEa ust & & ot ot sif9he (A) 3R &RUT (R) & FU H gd1a1 7471 g1 -1 g 7g faemedi & O Fel fdehea g1
Rehetr--

(a) 31fARYA (A) 3R BRUT (R) &I Tt 81 BRUT (R) 3R (A) Pt Tat AR 8

(b) 3if9erer (A) 3R BRUT (R) EHT Ta! & wifchT BRUT (R) Sif9eher (A) i Tgl e &l 8l

(c) SifFeme (A) T&Y & Afh SRt (R) Td &1

(d) ST (A) Tt & AR <hreoT (R) WET B

In the following question, two statements are stated as Assertation (A) & Reason (R). Choose the correct
alternative among those given below:

Alternatives:

(a) Both Assertain (A) and Reason (R) are true and Reason (R) is the correct explanation of Assertain (A)
(b) Both Assertain (A) and Reason (R) are true and Reason (R) is not the correct explanation of Assertain (A)
(c) Assertain (A) is true but Reason (R) is false.

(d) Assertain (A) is false but Reason (R) is true.

9. 3MAHYT (A) 579 deh FHid IUFAT eIk & e et SUFTAT & i gl &1

HRUT (R) :- AT ITAAAT et IUTANAT T Tl B

Assertain (A):- Total utility increases as long as marginal utility is positive.

Reason (R):- Marginal utility is the slope of total utility.

10, S1fHepy= (A): farenfar axgsi &t 7 deer gkt 81

FRUT (R) : 519 "It 78 AT & Ufasrd gRad= draa & ufdasra uRad= @ &d giar g, af 7T ol aeR gl ST gl
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Assertain (A) - Luxury goods have elastic demand.

Reason(R) when percentage change in quantity demanded is less than percentage change in price, demand
is said to be elastic

11. 917 9 fOaR &1 YA gRT ARAT &Y |

Explain the extension with the help of diagram.
or

gfct & o rfauma 82 uRwTT 8 |

what is meant by Supply ? Give Definition.

12. T a3t SR afear axgsii & offe SR &2 |

Distinguish between Normal goods and inferior goods.

ScE N ECAED)) Bl Td g1 aRadTTer | AT o
SINK]

0 12 - -

1 18 - -

2 21 - -

Complete the following table:

Production (Unit) Total Cost (Rs) Total Variable Cost (Rs) | Marginal Cost
0 12 - -
1 18 - -
2 21 - -
or

gd ufaaift iR {6 dad & | SHd B f fAvaR Fd18y
Explain the characteristics of a perfectly competitive market (any two)

14. ISR AT d¢h  ohl @RI gIRT URfd e
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Define market demand curve by diagram.

15. SCUhICAT IUTET el chi SRS e |

Explain short run production function.

16. SRk o Ted Ufathel & 199 6 arferent qon Yarfaa afga men o |

Discuss the low of diminishing return to a factor with the help of a table and diagram.
or

ot & g aur 7 § seft ot i afga o wv

Explain the increase in demand and decrease in demand with the help of diagram.

17. qof afaaifirar SR & I=ge ot ReRA gl 811 8, Rd afga e o

Explain the determination of market equilibrium Under perfect competition with the help of Diagram.
or

ofef g ot aReor g o 3T Pafes et Y @R A |

Define supply curve and explain its determinants

Section - B (macro Economics)

18. TS ST hi T=Y 8-

(a) Sreferae & q¥qaT ik dareil & Searer R &,

b) AT A &R

(c) S gf

(d) SRk a4l

Macroeconomics is concerned with:

a) the level of output of goods and services in the economy.

b) the general level of prices

c) GDP growth

d) all of these

19. =1 & ¥ opl-3t g Srdf-feahrss srvi<h a¥%g 82

a) feat b) U< c) TU d) Ul
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which is the following goods is Semi-Durable Consumer goods?

a) Radio (b) clothes  (c) milk. d) Patrol
20. 'RaR & 31’ fhg TR Sl IATE0T & ?
a) @i DREI c) (a) &R (b) d) 579 @ IS el

"Income of the family' is the example of which variable ?
a) Stock b) Flowc) Both (a) and (b)  (d) None of there.
21. arg fgsor @ srfauma g

a) UG Y Hgpre b) g & AR

C) UG o1 Hpa AR faedR d) HaT o1 dpa 3R fomr

credit control means!

a) only Contraction of credit b) Expension of credit

c) Contraction and Expension of credit d) contraction & Expension of money.
22. " gfl W (Ut AT I= Bt g 1" T§ hY fohwienl &2

a) Anefe b) &1 c)S.&. & d) Afe=

Whose statement is that supply creates its own demand"?

a) Marshall b) Kens c) J.b. Say d) Robinson

I et & areft &I W -

Fill in the blanks with appropriate words :-
23. q-gi1Y g e SraT H, Al IUHIT I & sRIeR HHEd sard Ugfd, Bl ([ / Teh)

In a two sector closed economy, if consumption is equal to Income, average propensity to save will
be . (zero/one)

24. Y TRAR o folq Jufd s=7dT 81 (311) Yot

expenditure creates assets for the government. (Revenue/Capital)

25. afe Hi\id IuiT ugfa (MPC) = 1. dt ot BT (Teh/ 31d)

If marginal propensity to consume (MPC) =1 then the multiplier will be (One / infinite)
fAfeifad usit & &t Al ol S1fderye (A) SR SR (R) & U H Id1a1 11 ¢ | A1 &g ¢ fahedt 7 @ @@t e |
faehey -
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(a) 31fHepe (A) 3R HRUT (R) & T&l g1 BRUT (R) AR (A) 6l Tgt e gl

(b) 3R (A) 3R SRUT (R) &HT T@l & wifch ShRUT () Sifeked (A) i Uel ™A 6l 8
(c) sif¥eR= (A) T8l & Ak &hroT (R) Terd

(d) 31fFeRy= (A) TTeTd & AAfch Rt (R) T81 8

In the following question, two statements are stated as Assertion (A) and Reason (R). Chase the correct
alternative among these given below.

Alternatives :-

a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of Assertion (A)
(b) Both Assestion (A) and Reason (R) are true and Reason (R) is not the correct explanation of Assertain (A)
(c) Assertain (A) is true but Reason (R) is false.

(d) Assertion (A) is false but Reason (R) is true.

26. AR U (A):- BEGII Teh Iod T gl

HROT (R):- B ¥ fhelt +ft gepR &t Fufxt o1 fAmfor 78t gtar 81

Assertion (A):- Payment of corporate tare by a firm is not included in the estimation of national income.
Reason (R):- Corporate tare is a transfer payment by the firm.

27. AfHehy (A) forelt B gRT TR o T 7TaT= TSR 3T o AT | *MA Tal gidl 8l

HRUN(R) T &3 AT el Teh gEATaR0T 71T 81

Asserton(A) payment of corporate tax by a firm is not included in the esmation of national income.
Reason(R) corporate tax is a transfer payment by the firm.

28. LT 3T i 31T fAfY gRT ATIG T9T o1 Fragri=ar 37915 STt 872

What precautions are taken while measuring national income by income method?

Or

a1 70T & T AT 87 IS8R0 gIRT THEMST |

What is meant by investment multiplier ? Explain with example.
29. Hifgen A & g Ul § i aReT @ ?

Explain the main measures of monitary policy?

30. R NG Tfeai dIF— gldt & ? (S TR ford)
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what is non-tax revenue receipt? (write any four)
Or

41T S & IR XA 1| i ford?

Write four main function of the central bank?

31. goit grét srefegae fhd hgd ¢ ? IaTexvl Uied IR |

what is the capitalist economy ? Explain with example.

32. ISR hIAd TR Yehdel TR IUTE fohdl shgd 8? Ty dfgd a1y |

Explain the What is GDP at market price? Explain with its aggxgat.

33. gHf® 32 Ud aaf® arefrme & 3iar i aarer he?

Explain the difference between macroeconomics & microeconomics?
or

re AT SrguTd Qe denfeh aReldT SIgUTd <hl SReT Y |

Explain cash reserve ratio and statutory liquidity ratio.

34. ISR hIAd UR Yehel TR ITE hReh ANTd WR s Iy Iare F1d HifSig:

qa RIS
aet e e 38
3T YSI 1 ITHT 34
faer @ vt fRad s sma ()3
foRera 10
Y 25
TSl 20
B 5
Ao deT aa 170
TSI YR # Hifeleh! el ARTGH 30

Find the GDP at market price & Net National product (NP) at factor cost on the basis of following data:

ltem (Crore)
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Net indiract tax 38

Consumption of fixed capital 34
Net factor income from abroad ()3
Rent 10
Profit 25
Interest 20
Royalty 5
Wages and Salaries 170
Owners contribution of social swecurity 30
or

SIE<t U St THwT fohd hed & ? IaTe [t (ea gic fafd) o dgf & Tt oma ot A= <t Iraenfaat ot forat 2

What is the problem of 'double counting'? Write the precautions regarding product method or value added
method of estimating national income.
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